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1. A non-narcotic drug is
(a) Morphine
(b) Heroin
(c) Cocaine
(d) Codeine

2. A population with natality equal to mortality is
(a) Increasing
(b) Decreasing
(c) Stable
(d) Growing

3. According to National Population Policy, the marriageable age for girls has
been raised in India from 15 years to
(a) 19
(b) 18
(c)17
(d) 16

4, Addiction of Tobacco is due to
(a) Histamine
(b) Nicotine
(c) Cocaine
(d) Caffeine

5. An opiate narcotic is
(a) Morphine
(b) LSD
(c) Amphetamine
(d) Barbiturate

6. Brown sugar is
(a) Barbiturate
(b) Heroin
(c) LSD
(d) Hashish

7. Caffeine is derived from
(a) Thea chinesis
(b) Coffea arabic
(c) Therobroma cacao
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10.

(d) All of the above

Cannabis sativa is Answer: (d)
(a) Jute

(b) Ergot

(c) Tobacco

(d) Hemp

Claustrophobia is fear of Answer: (b)
(a) Open space

(b) Confined space

(c) Heights

(d) Strangers

Consequences of population explosion were explained for the first time by Answer: (b)
(a) De Vries

(b) Malthus

(c) Darwin

(d) Lamarck



